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f Build COL query ‘ View the query
i Select uml dlass UML class name: gov.nih.nci.caarray.domain.file.CaArrayFile
i .domain, data.HybridizationData alllE
I . domain.data.Image Set criteria Select output type
i .domain.data. IntegerColumn =] “COL query > @ whole object
.domain.data.LongColumn || AND B
.domain. data. QuantitationType # >>"Project{role:project)->Experiment(role:experiment)->id” EQUAL_TO '$exp_id§ 0z phed ity
.domain.data.RawArrayData 7 distinct attribute
.domain.data.ShortColumn  —_—
.domain. data. StringColumn J%-
| doman.fie.Canrrayrie I (0 selected multple attrbutes
. domain. hybridization, Hybridization = [sdObjectid
‘doma\n.proJect.Absh’achacbor\c'all‘ type
.domain.project. Assay Type A lsidAuthority
.domain. project.Experiment id
.domain. project. ExperimentContac lsidNamespace
.domain. project.Factor tatus
.domain. project.MeasurementFacte \caBiald
.domain.project.Project Iname
.domain. project, TermBasedFactory
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l Mew query >> L = OR
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él Edit critericn |

UML class name: gov.nih.nci.caarray.domain.file.CaArrayFile

Set the criterion

(71 query by current dass' attribute

i <select the atiribute> -

@) query by assodated dass' attribute

| . gov.nih.nd.caarray.domain. project.Project {role: project) -
: gov.nih.nd.caarray.domain.project. Experiment {role: experiment)| |
|/ gov.nih.nd.caarray.domain.sample.LabeledExtract {role: label
|/ gov.nih.nd.caarray.domain.project. AssayType (role: assayTy|
|/ gov.nih.nd.caarray.domain.vocabulary. Term {role: replicateTy
|/ gov.nih.nd.caarray.domain.sample.Extract (role: extracts)

| gov.nih.nd.caarray.domain.vocabulary Term {role: experimen
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